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KRB A+ B—C + QAFH#IT DA+ B->X-Q; @X—C+ Q. FIIREEF, BIEHRRE
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A. CO(g)+ 1/202(g)===CO2(g) AH= —283 kJ-mol— 1

B. CH4(g)+202(g)===CO2(g)+2H20(g) AH=—802.3 kJ-mol—1

C. 2H2(g)+02(g)===2H20()) AH= — 5716 ki‘mol—1

D. H2(g)+ CI2(g)===2HCl(g) AH= — 184.6 kJ-mol—1

4. PR
B 401 R B2HI(R) <= H2(g)+12(2) I AH=+11kJ-mol—1, 1mol H2(g) 1mol 12(g)4r T 4k 4 WS4 it
4y BB EWM436k) . 151KIMARE, T ImolHI(g) T B W L BRI I RE B R

A.,598k) B)299kJ C. 149:5kJ D. 306kJ

5, WLFERH -

FEN2+3H2™ 2NH3IR i, SRR INAREIRESBIA: c(H2)=4 mol'L-1, ¢(N2)=3 mol'L-
1, ¢(NH3)=0.5 mol'L-1, 23 minf5, c(NH3)=0.8 mol'L-1, %M H N %% 2

A. v(H2)=0.7 mol-(L-min)-1 B. v(NH3)=0.3 mol-(L-min)-1

C. v(H2)=0.2 mol(L-min)-1 D. v(H2)=0.15 mol-(L-min)-1
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